AcadNet 2010
Multiple-choice single-answer questions
Computers section – 11th and 12th grade


1. Which one of the following is not a video-related technology?
A. DVI
B. S/PDIF
C. HDMI
D. WQUXGA
2. Which of the following statements about IP addresses is most accurate? 
A. Class A IP addresses have 8 bits. 
B. Class B IP addresses have 24 bits. 
C. Class C IP addresses have 32 bits. 
D. Class D IP addresses have 0 bits. 
3. What is the approximate minimum level of static charge that can damage an electronic computer component? 
A. 100 volts 
B. 1,000 volts 
C. 10,000 volts 
D. 100,000 volts 
4. Which type of SCSI termination uses voltage regulators inside the terminator? 
A. Active 
B. Passive 
C. High-byte 
D. All of the above 
5. Which AT command resets the modem? 
A. ATH0 
B. ATM0 
C. ATZ 
D. ATDT 
6. While inspecting a motherboard, you notice a discolored area. What is usually a cause of this? 
A. Spilled liquid 
B. Improper manufacture 
C. Power surge 
D. Underclocking 
7. Which of the following power states consumes the least amount of power? 
A. G0 
B. S1 
C. S2 
D. S4 
8. Which wireless IEEE standard operates on the 2.4GHz radio frequency and transmits data at a maximum of 11Mbps? 
A. 802.11b 
B. 802.11c 
C. 802.11e 
D. 802.11g 
9. What is the most important function of BIOS-ACPI? 
A. Bootstrap the operating system 
B. Detect system hardware 
C. Manage system power 
D. Remove unused system components 
10. Which of the following memory types has the smallest form factor? 
A. RIMM 
B. DIMM 
C. MicroDIMM 
D. SoDIMM 
11. Which of the following file attributes are available to files on a FAT32 partition? 
A. Hidden, Read Only, Archive, System 
B. Compression, Hidden, Archive, Encryption, Read Only 
C. Read Only, Hidden, System, Encryption 
D. Indexing, Read Only, Hidden, System, Compression 
12. Which of the following files bootstraps Windows XP? 
A. NTLDR 
B. BOOT.INI 
C. BOOTSTRAP.EXE 
D. NTBOOTDD.SYS 
13. What was the first 32-bit preemptive multitasking system? 
A. Windows 2 
B. Windows 3 
C. Windows 95 
D. Windows 98 
14. The ___________________ is hard-drive space in which idle pieces of programs are placed, while other active parts of programs are kept in or swapped into main memory. 
A. Swap file 
B. Location file 
C. Temporary file 
D. Program file 
15. Where do Windows 2000 and Windows XP keep the disk cache setting? 
A. WIN.INI 
B. SYSTEM.INI 
C. Registry 
D. REGEDIT.EXE 
16. In Windows XP, where can you check to see the location of where your temporary files are being stored? 
A. System control panel, Advanced tab, Environment Variables button 
B. System control panel, Advanced tab, Temporary Files button 
C. System control panel, Advanced tab, Windows XP Temp Files button 
D. Your temp files are always in the same directory in Windows XP. 
17. All of the following are Windows-based troubleshooting or modification utilities except __________. 
A. SYSEDIT 
B. PSCRIPT 
C. MSCONFIG 
D. DEFRAG 
18. Symptoms of swap-file problems include extremely slow system speed and a disk that is constantly being accessed, which is referred to as __________. 
A. Clocking 
B. Thrashing 
C. Booting 
D. Filtering 
19. What is the quickest solution to fixing a corrupt NTOSKRNL.EXE file? 
A. Reinstall Windows. 
B. Replace the corrupt file with a new one. 
C. Modify the BOOT.INI file to point to the backup NTOSKRNL.EXE file. 
D. Boot from a startup disk and replace the file from the setup disks or CD-ROM. 
20. LED page printers differ from EP process laser printers in which step? 
A. Writing 
B. Charging 
C. Fusing 
D. Transferring 
21. Which of the following is not an advantage of the daisy-wheel printer? 
A. Can print multipart forms 
B. Relatively inexpensive 
C. Print quality is comparable to a typewriter 
D. Speed 
22. Which OSI layer signals “all clear” by making sure the data segments are error-free? 
A. Application layer 
B. Session layer 
C. Transport layer 
D. Network layer 
23. ___________________ is the type of media access method used by NICs that listen to or sense the cable to check for traffic and send only when they hear that no one else is transmitting. 
A. Token passing 
B. CSMA/CD 
C. CSMA/CA 
D. Demand priority 
24. ___________________ offers the longest possible segment length. 
A. Unshielded twisted-pair cabling 
B. Coaxial cable 
C. Fiber-optic cabling 
D. Shielded twisted-pair cabling 
25. Which topology uses the least amount of cabling? 
A. Bus 
B. Star 
C. Mesh 
D. Hybrid 
26. What type of cabling is the cable used to connect traditional cable television? 
A. Twisted-pair 
B. Coaxial 
C. Fiber-optic 
D. Wireless 
27. You’ve recently been hired by ACME to do a security audit. The managers of this company feel that their current security measures are inadequate. Which information-access control prevents users from writing information down to a lower level of security and prevents users from reading above their level of security? 
A. Bell La-Padula model 
B. Biba model 
C. Clark-Wilson model 
D. Noninterference model 
28. You’re trying to rearrange your backup procedures to reduce the amount of time they take each evening. You want the backups to finish as quickly as possible during the week. Which backup system backs up only the files that have changed since the last backup? 
A. Full backup 
B. Incremental backup 
C. Differential backup 
D. Backup server 
29. You’ve been assigned to mentor a junior administrator and bring him up to speed quickly. The topic you’re currently explaining is authentication. Which method uses a KDC to accomplish authentication for users, programs, or systems? 
A. CHAP 
B. Kerberos 
C. Biometrics 
D. Smart cards 
30. Which authentication method sends a challenge to the client that is encrypted and then sent back to the server? 
A. Kerberos 
B. PAP 
C. DAC 
D. CHAP 
31. Your help desk has informed you that they received an urgent call from the vice president last night requesting his logon ID and password. What type of attack is this? 
A. Spoofing 
B. Replay attack 
C. Social engineering 
D. Trojan horse 
32. Which of the following is used to properly discharge voltage from an unplugged computer monitor? 
A. Anti-static wrist strap 
B. Screwdriver 
C. High-voltage probe 
D. Power cord 
33. What is the approximate minimum level of static charge for humans to feel a shock? 
A. 300 volts 
B. 3,000 volts 
C. 30,000 volts 
D. 300,000 volts 
34. A customer stresses to you how important her company’s operations are and asks how she can get hold of you after hours if there is a problem. What should you provide her? 
A. Your home phone number. 
B. Your office phone number. 
C. Your pager number. 
D. It depends on company policy. 
35. When providing phone support, a user suddenly asks for your name. What should you do? 
A. Hang up. 
B. Give your first name. 
C. Make a joke. 
D. Ask him why he wants to know. 
36. Which of the following is not a selection criterion for RAM? 
A. Physical size 
B. Solid state 
C. Speed 
D. Capacity 
37. While installing a CPU, you apply gentle pressure to the surface of the CPU, but it will not seat. When you examine the pins of the CPU to see if they are straight, you find that a number of them are bent. Why are the bent pins not the original problem? 
A. The socket has a ZIF mechanism that must be released before inserting the CPU. 
B. The holes in the socket are large enough to accept pins bent up to 45 degrees from perpendicular. 
C. The bent metal protrusions around the edge of a chip are not pins. They are non-electronic tensioners to make sure the CPU maintains a tight connection. 
D. CPUs don’t have pins. What you thought were pins were metallic designs in the likeness of the manufacturer’s logo. 
38. Which of the following statements regarding motherboard replacement is not true? 
A. As you remove any electronic components, including the motherboard and its adapters, you should place them in antistatic containers. 
B. Existing power supply connectors might not fit the new motherboard. 
C. Existing memory modules might not fit the new motherboard. 
D. When removing the motherboard, it is recommended that you not remove the expansion boards, so that you do not subject them to static. 
39. After manually formatting a hard drive and installing the operating system, you find that the computer does not function in the manner expected. Which of the following is a possible cause? 
A. You performed a high-level format, but neglected to perform a low-level format first. 
B. The operating system was distributed on two discs, but you only installed one. 
C. During formatting, you did not make the partition bootable. 
D. The operating system was larger than your hard drive and did not install completely. 
40. What is the term for an operating-system independent operation that ties a hard drive to its controller card? 
A. High-level formatting 
B. Low-level formatting 
C. Partitioning 
D. Scrubbing 
41. A flickering LCD screen is most likely caused by what? 
A. A failing inverter 
B. A faulty LCD backlight 
C. The video board circuitry 
D. A crack in the LCD display 
42. A piconet is limited to how many devices? 
A. Six 
B. Seven 
C. Eight 
D. Unlimited 
43. Which of the following types of partitions is the one the operating system must boot from? 
A. Primary 
B. Logical 
C. Extended 
D. Active 
44. Which of the following types of partitions is defined by it being assigned a drive letter? 
A. Primary 
B. Active 
C. Extended 
D. Logical 
45. You have just installed Windows XP and want to optimize the virtual memory. What is the minimum recommended page-file size in Windows XP? 
A. As big as the amount of RAM in your computer. 
B. One and a half times the amount of RAM in your computer. 
C. Two and a half times the amount of RAM in your computer. 
D. There is no minimum recommended page-file size in Windows XP. 
46. Your laser printer has recently starting printing vertical black lines on documents it prints. What is the most likely cause of the problem? 
A. The print driver is faulty. 
B. The fuser is not heating properly. 
C. There is toner on the transfer corona wire. 
D. There is a scratch on the EP drum. 
47. You believe your laser printer has a power issue. Using a multi-meter, what reading should you get from pin 9? 
A. +5V 
B. –5V 
C. +24V 
D. –24V 
48. In which step of the laser printing process is a laser used to reduce the charge to –100VDC on areas of the photosensitive drum? 
A. Charging 
B. Writing 
C. Developing 
D. Cleaning 
49. Within a DNS record, the entry type used to hold an alias would be which of the following? 
A. SOA 
B. HINFO 
C. A 
D. CNAME 
50. Which account do attackers often target on a database application? 
A. Root 
B. Administrator/Systems 
C. Supervisor 
D. Database local account 
